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QUESTION 1

Which of the following are valid reasons for adopting a different life cycle (from the V model), for increments after the
first year? 2 credits 

i. We do not have a clear understanding of the requirements from a customer perspective. 

ii. We see the risk of delivering requested functionality late as being higher than the risk of delivering a lower quality
product. 

iii. We do not have a budget for additional regression testing which is needed to ensure that existing functionality is not
compromised by future iterations. 

iv.

 The company test strategy does not fit well within the V life cycle model. 

A. 

(i) and (ii) 

B. 

(i) and (iv) 

C. 

(ii) and (iii) 

D. 

(ii) and (iv) 

Correct Answer: A 

 

QUESTION 2

In general which part of the testing activity is most difficult to estimate? 1 credit 

A. Test planning 

B. Test execution 

C. Test management 

D. Test design 

Correct Answer: B 

 

QUESTION 3
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The test improvement project will take place in an organization developing a safety-critical avionics application. Which
one of the following standards do you believe would be most appropriate to take into account for compliance during your
assignment? 1 credit 

A. ISO 9126 

B. IEEE 829 

C. BS 7925/2 

D. DO-178B 

Correct Answer: D 

 

QUESTION 4

A test log is one of the documents that need to be produced in this domain in order to provide evidence of testing.
However, the level of detail of test logs can vary. Which of the following is NOT an influencing factor for the level of
detail of the test logs being produced? 1 credit 

A. Level of test execution automation 

B. Test level 

C. Regulatory requirements 

D. Experience level of testers 

Correct Answer: D 

 

QUESTION 5

Which of the following would be the most significant input to estimating the time to carry out the specified testing tasks?
3 credits 

A. The skills and experience of developers to correct the failures. 

B. The standards used for the requirements specification. 

C. The metrics recorded from testing the capture-replay tool. 

D. The number of testers in the company and their grade. 

Correct Answer: C 
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